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I. IRA D Wi
T E = T TINFATE B T z
FITAF HE Ak & 1, 790, 548
—f R 1, 285, 000 23F-h¥ gk 550 N BEK T E
U — 7B 460, 000 23F— A
KBNS 110, 000 VA F
VIR ERERTE 240, 000 12F-L% gk
KBNS 700, 000
EiTE 33 1, 200, 000 14F-b%k8k 407E300 A, 50%150 A, 60760 A%k T &
)=7" BN 200, 000 40, 50, 6042) -1 ZINE
REBIMIYE 420, 000 W AFRE
A KBNS 50, 000
et B 65, 000 254 FiE
U=zt 25, 000 5F— A
& 19, 000 BLE194
Bhpdr BRI AR — e 660, 600
5 100, 000
- CE 50, 000
A 90, 000
M (FEEFE) 20
& il 7, 465, 163
O. X H o &
il H & fi PINFATE Bh 2 i =
1. —fE i) — ik 800, 000 800, 000
AT A b RS 100, 000 100, 000
PRI TTAT 5= -0 150, 000 50, 000
Z ot 100, 000 100, 000
/A gt 1, 150, 000) 1, 050, 000
2. ZH mEAERS 70, 000 70, 000
Z ot 0 0
/N £ 70, 000 70, 000
3. —fE TEERR 50, 000 50, 00044 7t
ZDfth 0 0
/I Fis 50, 000 50, 000
4. R bk LRanEd 150, 000 150, 000
Py =R 7= (B 80, 000 80, 000
PR RERR 182, 500 42, 000
FRATEKTE RS 197, 500 42, 000
VA N b i 70, 000 33, 900
VAZA =R e 90, 000 33, 300
T R— MMET v M PVRE 150, 000 15, 000
IRFERS 100, 000 35, 000
EN S e 100, 000 23, 800
VIU—=XD S 70, 000 25, 000
77 v REBE 200, 000 200, 000
Z ot 60, 000 60, 000
/N £ 1, 450, 000 740, 000
5. hfE MHERS (BF) 250, 000 25, 000
RS (55 300, 000 25, 000
m--48)-1" 170, 000 170, 000
HAHEY =7 GERE - TIEAR) 160, 000 130, 000
N4E)-r 80, 000 80, 000
WHEF v EF T 20, 000 20, 000
BIRF CHA-. <) 50, 000 50, 000
Z ot 50, 000 0
/A gt 1, 080, 000 500, 000
6. AfE 7 v MRS 110, 000 60, 000
Z ot 0 0
/N £ 110, 000 60, 000
7. KAE 7e DAKER 20, 000 5, 000
2720 < AR 40, 000 15, 000
BAT = AT 48 45, 000 15, 000
A Y — 7 14, 000 5,000
FRIIZLO—4 0 K& 51,000 30, 000
Z ot 30, 000 30, 000
200, 000 100, 000
8. FHH HFHEES - FHIRES 224, 000 224, 000
L7 =) — A7 —/VBRESE 42, 000 42, 000
V7= —EfEtt 44, 000 44, 000
Z ot 0
/I i 310, 000 310, 000
9. il —F BEF-LREBINE - BLE 204, 000 204, 000
LA BKF-AREBMIE - LT 250, 000 250, 000
DR EE S 40, 000 40, 000|111
ZDfth 0 0
/I Fis 494, 000 494, 000
10. ¥k - A WA v H—F v a FIRE 300, 000 SEEC)I, BEHE L OBREY v — kS
[ER e 500, 000 R ) AR
H At & ST A 100, 000 SEC)ITH A
/I Fis 900, 000
1. 9%/ HP#ERe 30, 000
SRR 120, 000
2 - MR e% 40, 000 THIY v 7 — RS
ES e 150, 000
s - WER 300, 000
e 100, 000 Bk B
RSN B 100, 000 By 5 R
w77 MR 00, 000 kg8 7 7 v NEgT
/I Fis 1, 140, 000
12, [EBRA R A 00, 000
/I Fis 0, 000
6 00
13. T #e 68 0
/I Fis 911, 168 0
& it 7, 465, 168 0
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